SN EREGE
HE: CROSYs

¢ IOKJAX Y

= 2| s= (S HA)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

C2E T NS 132,287,199 170,797,646 N 38,510,447
= 1,633,236
2 37,357,000
= 7,243,022
= 86,053,941

CRNEUES(E2ESLWNE/ER) 105, 156,361 140,010,707 N 34,854,346
2 37,357,000
== 67,799,361

2R SNNELE &= 36,437,796 42,204,642 N5,766,846
= 28,800,000
== 7,637,796

MOIH~QE2t &2 8 T ZAH(ZD) 14,800,000 17,250,000 A 2,450,000
2 14,700,000
= 100,000

401 Al EHI L 204 HI 14,800,000 17,250,000 N 2,450,000
2 14,700,000
& 100,000

01 A& H| 14,450,000 16,920,000 AN2,470,000
OANEZAI & 22X 2L 14,350,000
2 14,350,000
o&X, N&=s & JEts=aAss 100,000

02 2teld| 320,000 310,000 10,000
O2At2&el 320,000
2 320,000

03 Al 20| 30,000 20,000 10,000
OZ3 A2 0Hd] 30,000
2 30,000

Ho~ols2t &2 & ZXAZ2AH(Z1) 10,200,000 17,000,000 6,800,000
2 10, 100,000
o= 100,000

401 A& HI L 2 0HHI 10,200,000 17,000,000 6,800,000
2 10, 100,000
o=} 100,000

01 A& H| 9,913,000 16,596,000 6,683,000
OANEZAI & 22X 2 9,813,000
= 9,813,000
o&X, N&=s ¢ Je=aEs 100,000

02 2teld| 267,000 384,000 A 117,000
O2At2Zel 267,000
2 267,000

03 AlE 21| 20,000 20,000 0
OZ3 A2 0Hd] 20,000




2N E2ESE
HE: CROSYs
it PTG

= AXNLE &5 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
| = 20,000
BF2~LHA2E E2 ST H D AH(21) 8,800,000 3,000,000 5,800,000
= 4,000,000
& 4,800,000
401 Al HI YL 2 0HHI 8,800,000 3,000,000 5,800,000
= 4,000,000
& 4,800,000
01 Al &I 8,530,000 2,730,000 5,800,000
OANESA & 2SN 2L 3,730,000
= 3,730,000
O8X, N&EZ2 % JEt=aE A 4,800,000
02 2eltl 260,000 260,000 0
OZ2At2Zel 260,000
) 260,000
03 A& 20 b 10,000 10,000 0
O3 A2 UMY 10,000
= 10,000
DIZIEX S 2 ALY F& 2,637,796 2,623,642 14,154
201 Bt A H| 10,000 0 10,000
01 AFR2 22l Yl 10,000 0 10,000
O=s2H2 UXAIY 222 /s NA2H2H 10,000
402 QI2HXH 201 A 2,627,796 2,623,642 4,154
01 2IZ2tXtE2e X 2,627,796 2,623,642 4,154
QUIANZEHE Sdgs Z2&= B24M 2,000,000
O0IANEHYE Sda 2H &=4a8A 627,796
Age &5 68,718,565 97,806, 065 N 29,087,500
= 8,557,000
& 60,161,565
Negre2e L IHEAS X 687,565 579,565 108,000
101 @121 49,000 47,000 2,000
04 JI2ZtH 22 XNHEE =+ 49,000 47,000 2,000
OXNYE WSSHEA 1Al 49,000
201 LEt2 Y| 98,565 32,000 66,565
01 AFR2t2ldl 98,565 32,000 66,565
O=R"E AISZ 17,000
OE2, 879 XN &l 61,565
OQUSISEZNMEUMASS 29 15,000
OH&EIl= EAHXNE2E 2K 5,000
202 4] 10,000 9,000 1,000
01 2LHOHI 10,000 9,000 1,000




M E2EZUSH
M CRISUYHE(LSUDS/E2)
©F NYE =S (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=HAY & N2 ERES 10,000
401 AIEHI L 2CHEI 230,000 300,000 A70,000
01 A& Bl 230,000 300,000 A70,000
oXNgE M=2EX 24 230,000
403 X SHHSA=0l& 300,000 150,000 150,000
01 X SHMA2E X 300,000 150,000 150,000
ozt ¥ sHEEZ =2 F 300,000
ALY s 25,000,000 30,000,000 25,000,000
401 Al HIZ 201 8] 25,000,000 30,000,000 25,000,000
01 A& HI 20,100,000 25,000,000 A 4,900,000
OXNgE =L 20,100,000
02 Zeltl 4,750,000 4,800,000 A50,000
OXNYgE =z 4,750,000
03 A& S THHI 150,000 200,000 A 50,000
OXNgE ELZ 150,000
ANLE WREY & 30,000,000 40,000,000 A 10,000,000
401 AIEHI L 201 30,000,000 40,000,000 210,000,000
01 A& tl 30,000,000 40,000,000 210,000,000
OXNEgE HEs & =EEY 30,000,000
AEE AN Hl 1,000,000 1,800,000 800,000
401 AIEHI L 20HEI 1,000,000 1,800,000 800,000
01 A& HI 1,000,000 1,800,000 A 800,000
OL=AEWEYE MOtE 1,000,000
ALE Ol8X M= 10,000 23,000 A 13,000
201 Let24E] 10,000 3,000 7,000
02 =224l 10,000 3,000 7,000
OXNEET At Eolitha ZH 10,000
AEEZ 2TZWE(=1) 2,677,000 9,791,500 AT7,114,500
= 1,677,000
< 1,000,000
401 A& HIZ 201 8] 2,000,000 7,159,000 25,159,000
& 1,000,000
< 1,000,000
01 A& HI 1,993,000 7,143,000 25,150,000
OAEZSAL & 22X ¢ 1,993,000
= 1,000,000
< 993,000
03 Al S THHI 7,000 16,000 A9,000
O S AL THHI 7,000




M E2EZUSH
HH: CE2DSYHE(LSUDNS/E2)
SR NYE 25 (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 MtXISHHE =01 & 677,000 2,632,500 A 1,955,500
& 677,000
01 XM A=2E X 677,000 2,632,500 A 1,955,500
OAl -2 |IEEZ22XZHA 677,000
& 677,000
DEMIFSRME(ZD) 848,000 2,269,000 A 1,421,000
& 773,000
= 75,000
401 A& HIZ 201 I 150,000 680,000 A 530,000
& 75,000
< 75,000
01 A& HI 150,000 680,000 A 530,000
OAMEIAL & 22X 7€ 150,000
& 75,000
< 75,000
403 MtXSHHS =0l & 698,000 1,589,000 A 891,000
& 698,000
01 X SHMA=2E X 698,000 1,589,000 A 891,000
OAl -2 nEMITSR HA 698,000
& 698,000
HElolEsYiE (=) 881,000 4,092,000 A 3,211,000
& 492,000
< 389,000
401 Al HI K 201 I 778,000 684,000 94,000
= 389,000
< 389,000
01 A& HI 778,000 684,000 94,000
OAMEISAL & 22X 7€ 778,000
& 389,000
< 389,000
403 Ut SHHSA=0l& 103,000 3,408,000 A 3,305,000
= 103,000
01 X SHMA2E X 103,000 3,408,000 A 3,305,000
OAl - 20E0EE79 A 103,000
& 103,000
orMEE BaEA X4 (2 1) 400,000 3,570,000 A 3,170,000
& 400,000
403 A X EHHSH20IA 400,000 750,000 A.350,000
& 400,000
01 XM= L 400,000 750,000 A 350,000




M E2EZUSH
HH: CE2DSYHE(LSUDNS/E2)
SR NYE 25 (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAl - = otMEH SEHE T XA 400,000
& 400,000
oIt GANBoITIRE (2 1) 715,000 781,000 A 66,000
& 715,000
403 XAXISH M S K201 A 715,000 781,000 A 66,000
& 715,000
01 XXM A2E = 715,000 781,000 A 66,000
OAl - 2 HEl0I257I W CCTV A XA 715,000
& 715,000
SN sMEIIEZ2(30) 6,500,000 4,900,000 1,600,000
= 4,500,000
< 2,000,000
401 Al BIZ 201 8] 6,500,000 4,900,000 1,600,000
& 4,500,000
< 2,000,000
01 A& HI 6,180,000 4,900,000 1,280,000
OFEIH2ZX H24ME (X E4605) 6,180,000
& 4,180,000
< 2,000,000
02 Zeltl 300,000 0 300,000
OFEH2ZX H2HME (X =4605) 300,000
& 300,000
03 AIE 2 0HHI 20,000 0 20,000
OFEH2ZX H2HME (X =4605) 20,000
= 20,000
WEHY N (+sLUS/HEUS - 2FSIIEH 11,893,843 12,965, 265 A 1,071,422
= 1,633,236
& 7,243,022
< 3,017,585
s nsSMEl A gat 2,872,778 3,944,200 A 1,071,422
= 1,633,236
< 1,239,542
tHsws Al JHd 256,000 389,000 A 133,000
201 L2l 3,000 0 3,000
02 =224l 3,000 0 3,000
OZY0lsSANdE S4H & 3HAES 3,000
202 odl 38,000 34,000 4,000
01 = LH o4 1l 38,000 34,000 4,000
olizweE 28 « XNFHUAY X &0l 24,000
Oz & EXNSI 2=AMY N 14,000
207 A RO H| 75,000 20,000 55,000




M E2EZUSH
A WEHH NHE (8L nS/HERS - 22 SIIEH
el s nsSMHIA & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 289 75,000 20,000 55,000
Olszws2gdEY & MHlAHEI; 47,000
OANUHA 32FH ZE5EY 28,000
307 glz2+ol & 140,000 155,000 A 15,000
02 RIZHENEXS 10,000 25,000 A 15,000
ORLuSIHE T FEI2 WEXA 10,000
05 RIZt2IEt = 130,000 130,000 0
OZd0lsXddH IE2Y 130,000
SHEEA 43t 150,000 0 150,000
403 UHXSHHSA=0l& 150,000 0 150,000
01 HXSHMA=E X 150,000 0 150,000
OEHCEEA 2435t 150,000
BAl B AHZA 98 N3AAL(=1) 84,000 0 84,000
= 84,000
308 XXM SO A 84,000 0 84,000
= 84,000
01 IXNHHBNEES 84,000 0 84,000
OEAl S AMEIEZAMN S2Hl N3N 84,000
= 84,000
HAaHA cd(=1) 942,778 2,149,200 A 1,206,422
= 589,236
< 353,542
403 UHtXSHHS =0l & 942,778 2,149,200 A 1,206,422
= 589,236
< 353,542
01 XM A=2EE 942,778 2,149,200 A 1,206,422
OM&HA &g 942,778
= 589,236
< 353,542
NEAL SEuESH Ez2(=2 1) 1,440,000 600,000 840,000
= 960,000
< 480,000
403 XIS E X201 & 1,440,000 600,000 840,000
= 960,000
< 480,000
01 X SHHAN2E = 1,440,000 600,000 840,000
OusSAi SE8us=t 25 1,440,000
= 960,000
< 480,000
s MEXZ 9,021,065 9,021,065 0
=2 7,243,022
< 1,778,043




M E2EZUSH
A WEHH NHE (8L nS/HERS - 22 SIIEH
ol HEzwsE MEXA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
22X HEEH 3,652,140 3,652, 140 0
& 2,273,413
< 1,378,727
307 glz2tol & 3,652,140 3,652, 140 0
& 2,273,413
< 1,378,727
09 2+HAHEEXS 3,652,140 3,652, 140 0
OANAHASSAMY HEXH 3,652,140
= 2,273,413
= 1,378,727
23AY HEXA 4,518,504 4,518,504 0
& 4,518,504
308 XX EHHSOIA 4,518,504 4,518,504 0
& 4,518,504
01 X HHILEES 4,518,504 4,518,504 0
OANU,sHEHA 2SAMY HEXA 4,518,504
&2 4,518,504
Hled =484 598,974 598,974 0
=2 199,658
< 399,316
308 MtXIEHSOIH 598,974 598,974 0
= 199,658
< 399,316
01 HXNHHNBHELS 598,974 598,974 0
OHILH &84 598,974
= 199,658
< 399,316
NEN SEHAXS 251,447 251,447 0
& 251,447
308 XXM SO0l A 251,447 251,447 0
& 251,447
01 HIXNHHBNEES 251,447 251,447 0
O2LNEN sSHA X 251,447
=2 251,447
HERHZH(E2E T WE W) (IIEH/IIE 62,200 58,000 4,200
JlE3l 62,200 58,000 4,200
FA2Y JIE23H 62,200 58,000 4,200
201 L2l 36,000 36,000 0
01 At 22l 36,000 36,000 0
ORAN2Y AR 22| 36,000
202 (44l 22,000 22,000 0
01 = LH o4 1l 22,000 22,000 0




ENX: E2ETZNE
MM HH2AHAH(ER2E DS (JIEH/IIE)
@2 Jl2&tl (e &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OFA2ZE =WHAOYI 22,000
203 YR =&Y| 4,200 0 4,200
04 ENSIHRF=EY| 4,200 0 4,200
©30¢2! 0] ot 350,000& x12& 4,200
MEES(E2EZWUEN)(2ELWNE/E2) 15,174,795 17,763,674 N 2,588,879
BHdX= 15,174,795 17,763,674 N 2,588,879
Xgte &b A 13,151,781 15,316,331 AN2,164,550
311 Xt 20| XH& & 291,507 593,591 A 302,084
02 S22 X 20| XHakst 291,507 0 291,507
©'09X et =i E 291,507
705 (=22 243 12,860,274 11,322,740 1,537,534
03 Al - EXEHEI S0 ==J =4 & 6,000,000 5,000,000 1,000,000
O©'06Kl T SHEZE(XHEIHLIZ) 2,000,000
©'O7KIYE SHEE(KNANLIZ) 3,000,000
©'08XlI T SHIZA(XHIHLIZ) 1,000,000
04 Al - SXEHED | S0 =20 XHAHE 6,860,274 6,322,740 537,534
©'06KI YT SHEE(KNHINLIZ) 640,000
O©'O7XN YT SHIZE(XNHIHLIZ) 1,080,000
©'08KI2E SHEE(KNHINLIZ) 400,000
O'09XIYE ST (XML IZ2) 1,200,000
O©'"10KI L SZE(XNHEINLIZ) 1,200,000
O'MXYE SHZE(XNAINLIZ) 1,000,000
O©"12X e SHZA(XNHEHLIZ) 400,000
O "13KIYUE SHZE(XNANLIZ) 940,274
EPIONEEDNR= =S| 1,903,014 2,327,343 N424 329
311 X 20| AHAHE 583,014 967,343 AN 384,329
02 S3l=28 & X 20| XFakst 583,014 0 583,014
O'09= XA XY A 583,014
705 Oll=2 22| 24AE 1,320,000 1,360,000 AN 40,000
03 Al - EXEHED I SUH =R =4 & 1,000,000 1,000,000 0
O©'062IIX XS E HU(KNHMEI2) 1,000,000
04 Al - SXEIHLI S0 =20 XtAH 320,000 360, 000 A 40,000
O '062IXFAXNYE HU(KHMED2) 320,000
FEETE XA 120,000 120,000 0
705 (=2 &2l 24 120,000 120,000 0
04 Al - SXENED 20 2=20| KHAHE 120,000 120,000 0
O'10AEE2 PN (XNIEHLEI2) 120,000




